BALANCING CHEMICAL REACTIONS

Balance the following chemical reactions.

1) NaCl > Na + CL,
2N, + H, > NH,
3) HCl + FeS > FeCl, + H_S

4) Fe + CuSO4 -> FeSO4 + Cu

5 P,0,, + H,0 - H,PO,
6  Fe+__ HO-=>FeO,+_  H
7) H,PO, > H,P.0 +H.0

8 HCl + AgNO, > HNO, + AgC|

NFeO,+_ C>_ CO+__ Fe
0mCH,+_ C,~» C+ HCl

1) P+ Cl,»>__ PClL

122 Al+__ COH),->__ AIOH,+__  Ca
13 AgNO, +Cu~>Cu(NO,),+__ Ag

14 K+Br,>_ KBr

15) Al +Fe O, > ALO, + Fe



BALANCING CHEMICAL REACTIONS

Answers

) _ 2 NaCl>_2 Na+Cl

3) 2 HCl+FeS~>FeCl,+H,S

4) Fe + CuSO4 -> FeSO4 + Cu

5P0,+_ 6 HO—> 4 HPO

2 3 4

6 3 Fe+_ 4 HO->FeO,+_ 4 H

2

7 2 HPO,>HPO +HO

8 HCl + AgNO, > HNO, + AgCl

9 FeO,+ _ 3 C> 3 CO+ 2 Fe

MmCH + 8 d.-»> 10 C+ 16 HC

10" "16 2

11) 2 P+ 3 d,» 2 Pd

2 3

12 _ 2 Al+_3 CalOH,>_2 AIOH,+_3 Ca

13) _ 2 AgNO,+Cu~>Cu(NO,), +__ 2 Ag
149 2 K+Br,>_ 2 KBr

15 _2 Al+Fe0,>ALO,+_ 2 Fe
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